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©2x3+2x2—2x—3 @ 2x* +2x24+2x-3

@ 23 +2x24+2x+3 @ 2x3 +6x2-2x+3

® 2x* +6x2-2x-3

B ~
A-2B 5 TRT712 Fol A
A=2B=(2x3+4x>-T7) - 2(x> + x - 2)

=23 +4x2-T-2x>-2x+4

=2+ (4-2)x2-2x-T7+4

=2x3+2x?-2x-3




xoll ot A 3x2 +2x+ 7T =a(x+ 1)+ b(x+ 1) + ¢
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4. oA f(x)E 232+ 3x+ 22 HRIEY Fxol 3x—40]a, 2|7}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0




the S40] x o B FEAL W a-b+c o G2

2 =2x+4=a(x-1)(x-2) +bx(x—-2) + cx(x—-1)

® 8 Q)7 ® 3 @ 0 ® -3
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x=0= Ystd

4=2a .. a=2

x= 12 ot

3=-b .. b=-3

x =25 YstdA

4=2c .. c=2




(y—z)c—4z=00°] x, y, 29| Fkoll Aol T4

@ 4 @ 8 3)16 @ 32 ® 64

x,y,z°l sl A 2]stA
(a=b)x+(a+b-c)y+(c-4)z=0
x, y, zol digt &5Aolm=z
a=b,a+b—-c=0,c=4
Ta=b=2 ¢c=4

. abc = 16




T. @b+ b%c-b® - a?c& JASEF5HH?

@ (a+b)a-b)(b+c) @ (a-b)(b-c)(c+a)
@) a-b)a+b)b-c) @ (a—b)(a+b)(c—a)
® (a-b)(b+c)(c-a)

a’b + b*c - b3 - d’c
=a?(b-c)-b*>(b-c)
=(a-b)(a+b)(b-c)




x3 = 6x2 + 11x - 62 A5l 5FH?

O (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)
@) (x-1)(x-2)(x-3) @ (x+1)(x+2)(x—3)
® (x=1)(x=2)(x+3)
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10.

oF4l f(0) & x- 1, v—22 e YelA7t 271, 29
K2 = 3x 4 22 Ui YA 2 F5hw?

@ x—1 @ x+1 @ —x 1
@ ® -

f)=@x-1D0(x)+1 = (1)
fxX)=(x-2)02x)+2 = f(2)=2
f(x) = (x=1)(x = 2)Q3(x) + ax + b=} 5},
F1) = at b= 1. £(2) =2+ b 2015k
wa=1, b=0°B2 YHI|E x




11. 16a* — 250ab® 2] €147} ofd AL9

@ a @ 2a-5b
® 2a(2a - 5b) @ 4a? + 10ab + 25b2
©)2a(2a + 5b)

(£4]) = 2a(8a® — 125b3)
= 2a{(2a)3 - (5b)?}
= 2a(2a — 5b)(4a® + 10ab + 25b%)




12. n* —6n? + 259 o] 247k HA o= 44 n ] AA5E?

@ 174 @)2 7 @ 47
@ At ® F45] Yt

B

p=n*—-6n>+25

= n* 4+ 10n> + 25 — 161>

= (n* +5)% - (4n)?

= (n®+4n+5)(n* - 4n+5)
p7t AFOlB2 n2 +4n+5=1
T pn?2 —4n+ 5 = 10]o]oF gt}
n+dn+4=n+2)2=00An=-2
n?—dn+4=mn-22=0°xn=2
webA] Fohe n e = ol




13.

A7y o) Al W] Bol a, b, cofl HHokel (a+b-c)a-b+c) =
blb+20) + (c +a) e - a)7F HAT W, o] 4P L ol 421
72

@A7a7d @ olsuddd 0 FaAd
@ e O =4En9

(a+b-c)la—b+c)=bb+2c)+ (c+a)(c—a)lA
{a+ —c}{a— —c}=b2+2bc+c’2—a2

a’ - (b-c)? = -a® +b%+ 2 + 2bc

2a% = 2b% + 2c2

= b2 4 2

WA, o] A7hge Wwe] Zol7t aQ) A7zt golet,




| et 3624 (14 2x—x%)5 = ap +arx + azx® +- -+ + agox'® oA
3ap + as +as + -+ + ap o 27

i) W5 A0 A4t ap =1
—1x— -12 istel Al e
x=1% St 20 =ag+ar+---+ap---@

2 Yt (-2)° =ag—a1 +az —az---+ayw---@
D+ ®@: 0=2(ap +as +as+ -+ a)
Sagtaytag+---+ag=0

3ap +az +as+ - a0 = 2( ap = 1)

[¢)
i) B




15. A= a, b, col 5t [a, b, ¢] = a® + be et SHAL x + y +z = 10,
¥ 4y?+ 2 =129, [x, 2y, 2] + [y, 22, x|+ [z 2x, y] & 27

@ 10 @ 22 ® 88 (@)100 ® 144

~&B ~

[x, 2y, z] + [y, 2z, x| + [z, 2x, Y]
=x?+2yz+y* + 2zx + 2% 4 2xy
=x? +y% + 2% + 2xy + 2yz + 2zx
= (x+y+2)? =100




